Number - Simple Ratio
Qi

A piece of wood is 180 cm long.
Tom cuts it into three pieces intheratio2: 3 : 4

Work out the length of the longest piece.

(Total 3 marks)



Number - Simple Ratio
Q2

There are some sweets in a bag.

18 of the sweets are toffees.
12 of the sweets are mints.

(a) Write down the ratio of the number of toffees to the number of mints.
Give your ratio in its simplest form.

There are some oranges and apples in a box.
The total number of oranges and apples is 54

The ratio of the number of oranges to the number of applesis 1 : 5

(b) Work out the number of apples in the box.
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A piece of wood is 180 cm long.
Tom cuts it into three pieces intheratio2:3: 4

Work out the length of the longest piece.

Total Shares = 2 +3+4 =9

Cl Shares = [0 cm
| share = _I,E_Q = 20 ¢m
g
L0h3e,st P;ch = 4 shares = 20en x 4
— X0 cm
40,

(Total 3 marks)
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There are some sweets in a bag.

18 of the sweets are toffees.
12 of the sweets are mints.

(a) Write down the ratio of the number of toffees to the number of mints.
Give your ratio in its simplest form.
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There are some oranges and apples in a box.
The total number of oranges and apples is 54
The ratio of the number of oranges to the number of apples is 1 : 5
(b) Work out the number of apples in the box.
Toetal shaves = el 2

¢ shares = S 4

| Share = & —
¢
apples = § shares = 9x§ = 45



